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B & £ T B E ( BEEZLE ) BRE 200 HE  EAME 216 mm
150 BE 165 mm
E3 A A o ) T B #O% o ‘IRE BIER oy i) HHI+ 8 ERER BHR+ & % *
%) Ty EHNE | ERE #l AVE/E v/ I 1 A A B ~ ’/‘ﬂ"_”/ﬁ?% ROEHE BAL BAL &
= & 5 Ty HEHIR HiRE ®/IAE B+C B HEHIE E Ll | FTRE | &5 T R JLEES 7 T 75 -1 ROERE -1 REL
i =3 Rig ® Hl P E # R
5 | THEe | FEe A B c D E F G H I J L | TR K L M N o
B i m m m m m m m m m m m m3 m m m m 1@ & m2 m2 m3 m3 m3
“JIHE No.3 1,48
X
(H52f8) BEER 1.53 1.51 [0.216 [0.100 1.83 0. 050 0.670 0.720 0.416 1.00 11.16 BHO.28m3 | 19.86 0.30 0.15 11.01 0.379 0.694 4.17 7.75 19.86 $28
~JIA No. 2 1.34
X
(L] No.3 1.48 1.41 |0.165 [0.100 1.68 0.030 0.250 0.280 0.365 1.00 27.40 BHO. 28m3 | 45. 21 0.30 | 0.15 27.25 0.344 1.035 9.37 28. 36 4521 B4
~JIA No. 2 1.21
X
itiraize]  No. 3 1.34 1.28 |0.165 [0.100 1.55 0. 000 0.000 0. 000 0.365 1.00 25.50 BHO. 28m3 | 39.53 0.20 0.10 25.40 0.344 1.185 8.74 30.22 39.53 +
BHO. 28m3 L= 63. 66 m BHO. 28m3 | BHO. 28m3 | BHO. 28m3
104. 60
_______ 22.28 66. 33 104. 60
At 64.06 BHO. 45m3 0.40 BHO. 46m3 | BHO. 45m3 | BHO. 45m3
0.00 E & L=4.00m 16 &
0..00 0.00 0..00
cH BMF(JLATE D) & aat a5t Eh
104. 60
22.28 66.33 104. 60
W oW ® A H=(A-B) xF x @G
T K E K J=6G-1 [ = 73 M=J x K
BEREEHR K=E x F- /4 x 512 HMATHBER N=6 x L
FEA L BERE R L=(A-D-E) xF %+ &£z 0=H




+ = I &£ # %

oAz . i - T R & W 5 T =

e |38 2 |1THY |3 8| g &

= WEIE | il &

= Eal | £l 5 = H=1. 50m H=2. 00m H=2. 50m H=3. 00m H=3. 50m H=4. 00m H=4. 50m
TiRAl | FiRAl

B NO. m m m m m m m m m m m
No.3 | 1.48

ZNB®| BEE 1.53 1.83 11.16 1.00 11.16
No.2 | 1.34

—JE®| No.3 | 1.48 1.68 | 27.40 1.00 27.40
No.2 | 1.21

—JE®| No.3 | 1.34 1.55 | 2550 1.00 25.50

= 64. 06 64. 06




R T B

FE
EOA A o5 + ¥
/- CiAAfE 5 R AL H 2 H=1. 50m | H=2. 00m | H=2. 50m | H=3. 00m | H=3.50m | H=4. 00m | H=4.50m | & #*
H H H H H H H
weE  KE ¢ 200 9
AN =
H il 0 9 0 0 0 0 0
KR H B R
#EOA A o5 +
K OB H K H=1.50m | H=2. 00m | H=2. 50m | H=3. 00m | H=3.50m | H=4. 00m | H=4.50m | & #*
H H H H H H H
HEE AR 6200 ]
AN =
H il 0 3 0 0 0 0 0




~CAAESEEE H=2. 00 /\vy9/EKD0. 28m3#k
EiE EEE) 0200

" B it -1 =
EEIE= 1.00 m
1. = T A & 5§ 5§ £ 8 1T & K 64. 06 m TR E = 1.55 m
2. 1 2 X v @ W T @ E 3000 m
39.53 x 30.00 / 64. 06
3. 3 00m % Yy o #E H L 2 oW E M 18. 51 m®
8.74 x 30.00 / 64. 06
B E-s L 4.09 m3
4 3 0 m H Y o 8B RE £ =
30.22 x 30.00 / 64. 06
oW B R 14.15 e
HXWX L +(h x L ) x 1
5 3 O0mEYDEHEABE (A) D 10 T
155 x 1,00 X 30.00 30. 00 1
= 23 + (1.4 x 10 ) X 6.2 = 1.8 =
6. X B I (B) 4,09 m° + 33 m¥/A = 0.1 H 0.1 B
1. & il B =i 4 (c) 30.00 m + 50 m/H = 0.6 H 0.6 H
8. # W 1B K H % (D) 14.15 m° + 33 m%/B = 0.4 H 0.4 B
30mL YMETERAS=A x3/5+ (B+0.5) + (C+0.5) x3/5+D
E B H G0mHY) 1.8 x3/5+ 0.1 +0.5+( 0.6 +0.5) x35+ 04 = 2.7 H
HABH% G0mBY) 2.7 x 1.3 = 351 = 4 A
BT B L4k 640 / 3000 x 4 B = 9 [
KEEBEH (0mHY) 001 4+ 06 = 07 H
A% G0mHY) 0.7 x 1.3 = 09 = 1 B8

kBB H LK 640 / 3000 x 1 B = 3 H




B & % 2 5t & & 1 A & VW 200 mm
BitE W 150 mm BH 0.20 m3{EF
. ok || A B AT E wi |ACL~|ACL~| sye | swme | ans e | iEEE] B Kk i |aErv] 60° ] 90° [ . [ MH | EEEEGI50
g 1| Bk |mAED Blx & BVE mae| mE | S e S | S | g ;s 15- | o L 2
] w g | e kwz T YEeE T Y\E 5| me |PEE G 2 G0 e s mae| T2 | 10 [ 2007150 | (D) | B | B | j{g) | #F | SA@ | 1LE
mEE ? | & R )] 1RAIE NER|OEER T-14 [ | @3 | 0200 | ghes | %% 6150 | =0 | 77 vIvk
NP L1 L2 L3 L4 L5 L6
- (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) m | (&) | )| () | () (m) () [ ) | ) | () (m) (m)
ZNB#X
No. 1 T | £] 1.81 1.82 ] 1.00 | 1.91 | 2.50 | 2.00 1.00 1 1 1. 60 2.50
& &t 1 &P 2.50 | 2.00 0.00 | 0.00 | 0.00 1 0 1 0 1.60 0 0 0 0 2.50 0.00
T E FHIRAIR = KR S+0.10 XBEZEETIBEEONDEEF KRS LYK 1 LER R EE ¢ 150 = RIFEER-7 L-VIVF R X c0s60° (V- (F DEFIEIVE-V 7 HEER)
EHIZEE = B EERA0. 20- (RERAINE/2)
SEER1 L4 = L2 - (RE{EAIE/2) £ 2 g =0.50m (LA, &5)
=0.10m (&, 5Y- &z
SHEER2 L5 = L4 - g2ig =0.50m (EE. £i#)
=0. 15m (FEbFIE]
SHEER 3 L6 = L2 - L3
SLEMHERVU ¢ 200 = BB S B ME-EE Bk E=0. 182m (155Y) =0. 025m (1 AR = RF) BAE 5% LA 455 HE 1EEA FEEA
=0. 131m (it EY) =0. 150m (FrE&2h%) As/E= 000m 005m 0.07m 0.10m 0.04m 0.15m  0.05m
7 L-vIvh EE ¢ 150 = (RE LY -IEFIIBAIE) /sin60° BRAEE= 0.30m 0.65m 0.63m 0.50m 0.25m 0.30m 0.25m
#IAE= 030m 0.70m 0.70m 0.60m 0.29m 0.45m  0.30m
(R ERDISE) = (RELHY-BUTE FEHEIE) /sin60° +  CHEKME S FAFKMZE-0. 154-0. 165)




Bt E BB EE 2 x & W 200 mm

It VU 150 mm BH  0.20 m{EH
(x| mk |mam T Bla o B mee me | REGIEEG me | s | ws mow v M BT
m pt > FA NS 2 Al s e N — o
P ﬂé Eé’ PR | K iy ERITE e E R IR |pag ops ER1|ER2|ERS BTG #EEIL FhELRE BRL %L HRtEE EE
N L1 L2 L3 L4 L5 L6
m [ @ | om [ m [ m | om [ m | m | m]| m][@m/]m]|@m (n®) () () () () (m) (m)
ZNE#X
No. 1 + [ £] 1.81 1.28 | 1.00 | 1.91 | 2.50 | 2.00 1.00 3.82 0. 69 3.09 3.82 H=2. 00 2.00
& i 3.82 0.69 3.09 3.82 0.00 H=2. 00 2.00
AL = (BTE THIRELRE-ASE) x B5I1E x {EEIER
FhEME D={0. 365 x HEAIME- (0. 165x 0. 165 x 7 /4}} x {EHIER
@={ (BT ETF9IRAR-EIAE) x FEHINE- (0. 165x0. 165 /4 } x {RHIER
QT E FHIREIE =18 I8E+0. 365DI5E
0.365=0. 10 (& TF)+0. 165 (E411%)+0. 10(E L)
#RL O=(ETETFOEEFE-EIEE-ERS) < R4 x EHER+EIRE x EEIE x (L1-L2)
Q= (FHEEIFE-ERS) x EHIME x (L1-L2) OB E AR =1EIRE+0. 365D 15 &
% T =iEHt FE L] LA 455 HE 1EEA JERA
AsE= o000m 0.05 m 0.07m 0.10 m 0.04 m 0.15m 0.05 m
PhEEEERE L= (0. 450°-0.216°) x 7 /4 BREEE= 0.30m 0.67m 0.63m 0.50 m 0.25m 0.30 m 0.25 m
#IHE= 0.30m 0.72m 0.70 m 0.60 m 0.29 m 0.45 m 0.30 m

FEHIHIRN 1.50m B 256, LBIEHRET .




R T B

et
EOA A o5 + ¥
/- CiAAfE 5 R AL H 2 H=1. 50m | H=2. 00m | H=2. 50m | H=3. 00m | H=3.50m | H=4. 00m | H=4.50m | & #*
H H H H H H H
w\eE  BUTE ¢ 150 |
AN =
H il 0 1 0 0 0 0 0
KR H B R
#EOA A o5 +
K OB H K H=1.50m | H=2. 00m | H=2. 50m | H=3. 00m | H=3.50m | H=4. 00m | H=4.50m | & #*
H H H H H H H
weE  HUTHE ¢ 150 1
AN =
H il 0 1 0 0 0 0 0




FTRAAEHETE H=2. 00 /NusKH0. 28m3Hk
&1 (BEE) 6150
" B it -1 =
fEHIE= 1.00 m
1 - T 2 & B 5 £ 8 T & E 2.00 m EiREIE= .91 m
2. 1 2 X v @ W T @ E 3000 m
3.82 x 30. 00 / 2.00
3. 3 00m % U o # & x 2 oW E M 57.30 md
0.69 x 30. 00 / 2.00
B E-s L 10.35 m3
4 3 0 m H Y o 8B RE £ =
3.09 x 30. 00 / 2.00
BOW OB R 46. 35 m3
HXWX L +(h x L ) x 1
5 3 O0mEYDEHEABE (A) D 10 T
1.91 X 1.00 X 30.00 30. 00
= 43 + (1.4 x 10 ) X 6.2 = 2.0 =
6. X B I (B) 10.35 m° + 33 m%/B = 0.3 A 0.3 H
1. & il & =] - (c) 30.00 m - 50 m/H = 0.6 H 0.6 H
8. ® WM ®B E B # (D) 46.35 m3 + 33 m%/B = 1.4 H 1.4 B
30m Y ETEAK=Ax3/64+ (B+0.5) + (C+0.5) x3/5+D
E B #H G0mHy) 2.0 x3/5+ 0.3 +0.5+( 0.6 +0.5) x3/5+ 1.4 41 H
#HARH G0mHY) 4.1 x 1.3 = 53 = 6 A
)i = 200 /3000 x 6 B = 1
KEEBEH (0mHY) 0.3 + 0.6 = 0.9 H
#HARHK G0mHY) 0.9 x 1.3 = 1.2 = 2 A
KEBH £ H® 200 / 3000 X 2 B = 1




WNBEBEEITYR—ILBEFEE

4 53] < nAE B Bl &
v > | B RRR e | o= %
R R
| | & & S
17 L
& 3 i3 & i3 & £ £ | 114 | 125
5 1% m mm m mm m mm m #8 48
ZJIAE
No. 3 ¢ 300 1.7 $150 [ 1.700 | ¢200 [ 1.710 1
Al AL
H= 2.0mLF B E$200
H=2.0~3.0mLL T 1 & BE @150
H=3.0~4.0mLL T
1
& &t
i 1 &




i mEIHE%E 2298 )
% 3 @ 1 i#om st % 3 @ I | iom st
LB EWR T () 3 MEWBRT HE®
X & B BB B X & B BB B

U B I t=20cmLEL 4.70 4.70 m T B T t=20cmLEL 8.90 + 8.90 m
4.70 m H 8.90 m

WO I t= 5cm 11. 66 11.66 m2|  ® T t= bcm 20.75 + 20.75 m?2
11.66 m2 B 20.75 m?2

AounT t= bom 0.58 0.58 m3|H >4 T t= bom 1.04 + 1.04 m3
0.58 m3 B 1.04 m3

2, REIB I

E LA B t= 27cm 11.76 11.76  m2
11.76 m2

TER®EI t= 30cm 11.76 11.76  m2
11.76 m2

LEHBBT| t=12n |F B B & & B C

X B T t= 3cm T B B # & B L 4, B HE T (K E IH

- - t= 3cm T B B # & @B C ®= B I t= bom 31.91 + 31.91 m?2

p2 2 19 N t= 3cm 0.34 0.34 m3 H 31.91 m2
0.34 m3

## B8l T t= 3cm 0.23 0.23 m3
0.23 m3

P> e ol t= 2cm 0.23 0.23 m3
0.23 m3




i mE B =E & A ( BEHE )
s (|8 BoE st 4 % 1 1B | BHoE
1, SEWE T (4 ) 3. MEWB T (BB #H)
X & B R E 8 B 0 R E 8
v B I t=20cmLL T 1. 60 + 1.60 m| t1 B T t=20cmLL T 1. 60 1.60 m
B 1.60 m 1.60 m
B OW I t= 3cm 27.25 + 21.25 m2| M ® T t= 5cm 16. 35 16.35 m2
B 27.25 m2 16.35 m2
Ao0nIT t= 3cm 0.82 + 0.82 m3|ASZMmn T t= 5cm 0.49 0.49 m3
B 0.82 m3 0.49 m3
# Hl T t= 10cm 1. 36 1.36 m3
1.36 m3
2, R#&EIB T Lz R I t= 3om 1. 36 .36 m3
B L t= 15cm 27.25 27.25 m2 1.36 m3
B 27.25 m2l4, & % T (X 15 18)
rtERE®ET t= 10cm 27.25 21.25 m2l E @ T t= 10cm 40. 87 40.87 m?2
B 27.25 m2 40.87 m?2
=®= B I t= 3cm T B B # & A LU = B I t= 3cm 43. 60 43.60 m?2
BB I t= 3cm T B B # & A LU 43.60 m?2
As0nIT t= 3cm 0.82 0.82 m3
B 0.82 m3




SEAETHREHEE (K -
Bam AFLES . EREY " 8 IH. £ & &
= | A T TREINE | SRR | SRR | s uc=| 455 o3| 2ns sz |4 nns| HIEhR | SHEhRAREET HS05 RIS
ES g TR g M | g (T SR SREEE BB\ SMIEE 5Ty e R man (RERN RS (REARN BER
t=3cm t=bcm t=2cm | t=10cm
B m m m m2 m m3 m2 m m m m?2 m?2 m3 m3 m° m°
—JIAE No. 3
#h[X ) 10. 26 1.00 2.20 10. 26 0.05 0. 51 10. 26 0.25 2.20 2.20 10. 26 12. 31 0.31 0.62 0.21
BEE%
—JIIE No. 3 6.70
#h[X ) 0.90 1.00 2.50 1.40 0.05 0.07 1.40 0.25 2.20 6.70 0.90 8.44 0.03 0.42 0.02
BEE%
& 11.16 4.70 | 11.66 0.58 | 11.66 890 | 1116 | 20.75 | 0.34| 1.04| 023




HEEBHINEFEE (XE)
gy (MBS o s _ £
%7:7_. _t;)ilf.iﬂ‘“ E_E nﬁ a§ [E1] *ﬁ
TR HEMHIE| TEI tET =RET
t=27cm t=30cm t=10cm t=bcm
B m m2 m2 m2 m?2
No. 3
ZJIE 10. 26 10. 26 10. 26 10. 26 22.57
BEES
No. 3
ZJIE 0.90 1.50 1.50 1.50 9.34
BEE%
& 11.16 11.76 11.76 11.76 31.91




BEERIMBHEE -
Bam AFLES . EREY " 8 IH. £ & &
= | A T REINE | 2R | W | s urue =)o = o1 20| e sz |4 nns| HIEhR | SHEhRAREET HS05 RIS
ES g TR g M | g (T SR SREEE BB\ SMIEE 5Ty e R man (RERN RS (REARN BER
t=3cm t=3cm t=2cm | t=10cm
B m m m m2 m m3 m2 m m m m?2 m?2 m3 m3 m° m°
—JIAE No. 2
#h[X No. 3 27.25 1.00 1.60 27.25 0.03 0.82 27.25 0.25 1.60 1.60 27.25 16. 35 0.82 0.49 1.36
0.
& 27.25 1.60 | 27.25 0.82 | 27.25 160 | 27.25| 16.35 | 0.82| 0.49 1.36




HEEHINEFEE (XE)
AAES] A &
Be Ttam| 29 H = ® B (8D
TRl HLiMBE| LERET| BT
t=15cm t=10cm t=3cm
Bifg m m2 m?2 m?2
No. 2
—JE 27.25 27.25 40. 87 43. 60
No. 3
& 27.25 27.25 40. 87 43. 60
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